concerned about several factors which are likely to change during the
next financial year as indicated below:
Particulars

Current | Next Financial |
Year Year

3.00

11%

4%

1.5

Dividend paid/anticipated per share (T)
Risk Free Rate

Market Risk Premium

Beta Value

Expected growth \ 8%
Advmmahvmnmwmwhﬂﬂmm m;

SELL the shares, based on the above information.

(2)
PKR2
PART - 11
I. (&) An investor is holding 1,000 shares of X Lid,, Current Year dividend rate
is T 3 per share. Market price of the share is ¥ 35 each. The investor is
4

(b) mmmwmmmmmmuuwmw '

MFX

Amount of investment (T) |"5.50,000

f Wmﬁdwm-!lmm-mi m;n‘_ﬁn |
mv-smslm.mm
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() Wmmﬂfmmmmnmﬁﬁmmdu 4
crganization is also money”, Explain the statement 1o clearly understand
"’““‘“’“‘"’wmmmm,

s () WCWmﬂmnﬂﬂwﬁmzﬂmm January
o L] -‘l. L] ‘
2024 were as follows -

Days | Date

! 2




(b)

4
PKR2
You are required 1o :
0} mwmmawtmaurmnymm
above period. The previous day exponential moving average of
Nifty can be assumed as 21,500. The value of exponent for 31 days

EMA is 0,062,
(i) Give brief analysis on the basis of your calculations.

XY Ltd,, is interested in expanding its operation and planning to install a
unit at US, For the proposed project, it requires a fund of § 15 million
(net of issue expenses/floatation cost). The estimated floatation cost is

3%. To finance the project it proposes to issue GDRs.

You as a financial consultant is required to compute the number of
GDRs, to be issued and cost of the GDR with the help of following
(i) Expected market price of share at the time of issue of GDR is ¥ 350
(Face Value T 100). )
(il) 3 shares shall underly each GDR and shall be priced at 6% discount
e - | i




(5)
PKR2
(¢) Mr. A, has invested in the Growrich Mutual Fund's Scheme. The details 4
of the Mutual Fund Scheme are given below :
J'L:"”“ Value at the beginning of the month | ¥ 78,50
Ilrmunlmd Return 16%
|Distribution made in the nature of Income and] ¥ 0.40 & ¥ 0.30

J Capital Gain (per unit respectively)

You are required to :
(i) Calculate the month end Net Asset Value of the Growrich Mutual

Fund Scheme (Round off to 2 decimals)
(if) Comment briefly on the Month end NAV.

10

(8) A manufacturer of electronic components has taken floating interest rate
loan of ¥ 2 Crore on 1" April, 2023. The rate of interest at the inception

of loan is 9% per annum. Interest is to be paid every year on 31* March.

In the month of October 2023, mecmmnmkufhum?ukug
ﬁefnﬂowin;ﬂmﬁmnbmﬁmimmtmmﬁmﬁ"
future.

(i) On31%March, 2024 - 9.25% ‘
On 31%March 2025 - 9.50%
om'!mm M




(6)
PKR2

(i) mummiummcﬂmwmmmhnm_
be paid at once on 1" October, 2023 and the actual rate of 4
on the respective due dates happens to be as ; ‘

On 31* March, 2024 - 9.50%
On 31" March, 2025 - 11.00%
On 31" March, 2026 - 9.25%
On 31" March, 2027 - 9.00%

On 31* March, 2028 - 8.50%

You are required to show how the settlement will be executed or
the perspective interest due dates,

(iif) State whether this option is advaniageous when compared 1o
Interest Rate Collar option. Explain.



n

PKR2
4. (») The market received some information about ABC Ltd.'s tie up with
Multinational Company. This has induced the market price to move up. If
the information is false, the ABC Lid.'s stock price will probably il
dramatically. Tuprmmmh.mmmmmwﬂ'"“""‘

options.
He pqn\:hasodgne 3 I:IEE'IJ_I'!_F!]_I with a striking price
mi;_;\[.‘:_m paid T 2 per share premium for 3 3
mTkalzpﬁne of T 42,
Anum for call and put option.
You are required :
(i) To determine the investor’s position if the tie up offer bids the price
of ABC Ltd.’s stock up 10, n 3 months. J

(ii) Tndetamiuemcinvamﬁpnsiﬁﬂnifthgﬁnup'@mﬂﬁ e !
mddnpﬁmufﬂu-nmhﬁlhmlﬂhﬂmm

- |

(iii) To determine the investor's position if the tie up offer program is
wMMWwﬁunfmmrh:upm!.ﬁ-hJM: _ #_u’

e he e

(b) qu.plmtquulmnsud.mmwmw_m_ L LS

m-pimﬂmdummmmmm:
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(8)
PKR2
The merger is expected to generate gains, which have a present value of

¥ 300 lakhs. The exchange ratio agreed to is 0.5.

You are required to calculate the true cost of the merger from the point of
view of PQ Lud.

() What do you mean by International Financial Centre (Gift City) 7 What
are the benefits of [FC 7

. 5. (a) An investor has decided to invest Rs.1,00,000 in the shares of X Ltd. and
|

YLtd.ﬂndeu&edm&mmuhuuufﬂumn companies along
withl!i:h'pruhbllitieamufnlm:

Probability | X Ltd(%) | Y Ltd(%)

0.20 -5 15

0.50 10 25




r

)
PKR2

® XY L:ﬂ,,pﬂdldi?ﬁuﬁnffifhﬂunmm_mwh
ﬂwmwnmwrhmtimﬂulﬂ;“_

thereafter. The return on 182 days T-bills js l'ﬂipﬂrmﬂﬁ
mmnwmhmlmmumﬂm

mcu.v:ﬁmuurxv'mmwimﬂmqrﬂnm.mhm
You are required to ;

(i) Calculate the Required Rate of Return

(i) Calculate the Intrinsic Value of the Stock
The PVF at 17% is given below :

Year 1 2 3 4 [ s

PVF(17%) | 0.8550.731[0.624 |0.534 | 0.456

6 (W) hmjnanudmtmummhmﬂhl'mh. ."'
mﬂmhmndhm!hﬂnhlumﬁqhhmﬁ:

Age of the Machine (Years)




(1m

PKR2
Fuwe repacement il be with Identical machine having same copy
Revenve is unaffected by the age of the machine, Immuh
and derermine the optimum replacement cycle.

PV factors of the cost of capital of 15% for the respective four years are -

Year | 2 3 4

PVF(15%) | 0.8696 |0.7561| 0.6575 | 0.5718

(b) m@wmurxvzm,mmmm:tuw
share in the market.

XYZ Lid., has rotal m.m.nmmmwn;mmm
promoters equity holding in the company is 30%.

Ancuqunummnzm.mnfmwm
mmmﬁmwntlmm

Furbher ABC Lid,, feels tm gt of XYZ m. g&m
top management, will le f T 8 s -

. 5.1‘_'r" "_ 1..

m““ ,‘j:_ are pr ’ -'
o R



(11)
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Following additional information is available regarding ABC Lud.,

Earnings per share T 5_|
Total number of shares outstanding 15,00,000
Market price of equity share T30
You are required to :

(i) Calculate the maximum price per equity share which ABC L., can

offer to pay for XYZ Lid.

(i1) Cﬂcu!muthcminimHEpﬁﬂtpﬁrWMlMﬁ

management of XYZ Lid., ﬁllhamumamuﬂhmm-
interest.






